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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1062 3.7 2.3 8 46.2 93.5
2 1120 4.1 2.2 8 51.4 98.6
3 1073 3.9 2.3 8 48.2 94.5
4 1117 8.9 5.2 18 49.5 98.3
5 1065 7.4 4.5 18 41.2 93.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1. Explain the difference between general and special damages in the law of tort. [8] 
 
 


Indicative content 
 
NOTE: The content is not prescriptive and candidates are not expected to mention all 
the material mentioned below. Each answer will be assessed on its merits according 
to the assessment grid and the indicative content. Examiners should seek to credit 
any further admissible evidence offered by candidates. 
 
In explaining the terms general and special damages, candidates are expected to 
demonstrate knowledge and understanding of legal rules and principles underlying an 
award of damages. In demonstrating this knowledge and understanding, candidates 
are required to focus on the specific nature of the question set and not simply give a 
general answer on damages. 
 
The response might consider issues such as: 


• A claimant who successfully proves his case in negligence will be entitled to a 
remedy. Damages are one form of remedy. 


• Damages aim to place the claimant, where possible, in the same position as if the 
tort had never happened. Not always possible for serious, life changing injuries. 


• Damages can be divided into general and special damages: 
o Special damages – These comprise quantifiable financial losses up to the date 


of trial and are assessed separately from other awards because the exact 
amount to be claimed is known at the time of the trial. The major types of 
damages are as follows: 
▪ Loss of earnings.  
▪ Medical Expenses.   
▪ Expenses to cover special facilities.   


o General damages – This term covers all losses that are not capable of exact 
quantification and they are further divided into pecuniary and non -pecuniary 
damages. 
▪ Pecuniary damages – The major type of pecuniary damages is future loss 


of earnings. The courts calculate this amount using the multiplicand (a 
sum to represent the claimant’s annual net lost earnings) and the 
multiplier (a notional figure that represents a number of years for which 
the claimant was likely to have worked). These are multiplied together in 
order to calculate the future losses.   


▪ Non-pecuniary damages – pain and suffering, loss of amenity, damages 
for the injury itself. 


 
 


Band Marks 
AO1: Demonstrate knowledge and understanding of legal 
rules and principles 


3 6-8 
• Excellent, detailed knowledge and understanding of legal 


rules and principles relating to general and special 
damages. 


2 3-5 
• Good knowledge and understanding of the legal rules and 


principles relating to general and special damages. 


1 1-2 
• Basic knowledge and understanding of the legal rules and 


principles relating to general and special damages. 


 0 Response not creditworthy or not attempted. 
  












A concise yet focused answer. Many key concepts included and though further depth preferable, the range in the answer allows it to gain top band.

















A strong top band answer. Well focused with both types of damages referred to accurately. Good use of key concepts and terminology. 
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Answer all questions.


Questions 1, 2 and 3 require you to demonstrate knowledge and understanding of legal rules and 
principles.


1.	 Explain the difference between general and special damages in the law of tort.	 [8]


© WJEC CBAC Ltd.
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4. Marco is driving his motorcycle along the high street. Meanwhile, Noa is rushing to 
work and texting while driving to let his boss know he is going to be late. He pulls out 
in front of Marco and knocks him off his bike. Marco suffers a serious head injury and 
is unable to work. The head injury would not have been so serious if he had taken 
the advice of the paramedics called to the scene and gone to the hospital 
immediately. 


 
Advise Marco as to whether Noa is liable in the law of negligence for his injuries. [18] 


 
 


Indicative content 
 


NOTE: The content is not prescriptive and candidates are not expected to mention all 
the material mentioned below. Each answer will be assessed on its merits according 
to the assessment grid and the indicative content. Examiners should seek to credit 
any further admissible evidence offered by candidates.  


 
In assessing the extent to which Noa is liable for Marco’s injuries, candidates are 
expected to apply legal rules and principles to the scenario in order to present a legal 
argument using appropriate legal terminology.  


 
The response might consider issues such as:  


• For Marco to succeed in an action in negligence against Noa, it must first be 
established that Noa owed them a duty of care. The basis of whether or not a 
duty of care is owed is determined on a three-part test as laid out in Caparo 
Industries PLC v Dickman. 


• Noa does not owe a duty to the whole world but only to those persons that could 
be reasonably foreseen to be affected by his actions or omissions as determined 
in Donoghue v Stevenson. It could reasonably be foreseen that Noa’s distracted 
driving could lead to other persons being affected.   


• If it is established that a degree of foreseeability exists, then the proximity of the 
parties involved must be considered. Proximity is determined on the basis of the 
relationship of the parties involved. There is a clear proximity of relationship 
between Noa and Marco.  


• The courts will also consider if it is reasonable to impose a duty of care on Noa 
on the basis of fairness or policy. It is both fair and in the interests of public policy 
to impose a duty of care on drivers and would not result in the floodgates being 
opened.  


• Marco has suffered damage as a result of Noa’s breach of duty of care. Objective 
test but consider potential special characteristics of the defendant.  Application of 
relevant breach ‘risk’ factors.  


• Causation – ‘but for’ test.  


• There was no evidence of novus actus interveniens that could negate Noa’s 
liability for the bump and responsibility for the injuries suffered by Marco 


• Remoteness of damage – egg-shell skull rule.  


• Contributory negligence of Marco not going to the hospital immediately. 


• Credit for any other relevant citation.  
 
  







 


© WJEC CBAC Ltd. 8 


Band Marks 
AO2: Apply legal rules and principles to given scenarios 
in order to present a legal argument using appropriate 
legal terminology 


4 14-18 


• Excellent, detailed application of legal rules and 
principles to the situation involving Noa and Marco. 


• Excellent presentation of a legal argument, using 
appropriate legal terminology, case law and other legal 
authorities relating to the elements of the tort of 
negligence. 


3 9-13 


• Good application of legal rules and principles to the 
situation involving Noa and Marco. 


• Good presentation of a legal argument, using appropriate 
legal terminology, case law and other legal authorities 
relating to the elements of the tort of negligence. 


2 5-8 


• Satisfactory application of legal rules and principles to 
the situation involving the Noa and Marco. 


• Satisfactory presentation of a legal argument, using 
some appropriate legal terminology, case law and other 
legal authorities relating to the elements of the tort of 
negligence. 


1 1-4 


• Basic application of legal rules and principles to the 
situation involving Noa and Marco. 


• Basic presentation of a legal argument, using minimal 
legal terminology relating to the elements of the tort of 
negligence. 


 0 Response not creditworthy or not attempted. 


 
 
  












Duty applied. Robinson included.







Answer a little muddled here in terms of a logical approach - duty, breach then damage. 



All 3 elements of negligence applied, albeit muddled in places. Legal authority used to support. 












Robinson included.







A lot of time spent on Caparo. 











Breach applied with risk factors and reference to case law.







Though there are some inaccuracies, the answer is in the top band due to the range and detail. All 3 elements of negligence are applied and there is good use of legal authority. 
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Answer all questions.


Question 4 requires you to apply legal rules and principles to the given scenario in order to present 
a legal argument using appropriate legal terminology.


4.	 Marco is driving his motorcycle along the high street. Meanwhile, Noa is rushing to work and 
texting while driving to let his boss know he is going to be late. He pulls out in front of Marco 
and knocks him off his motorcycle. Marco suffers a serious head injury and is unable to work. 
The head injury would not have been so serious if he had taken the advice of the paramedics 
called to the scene and gone to the hospital immediately.


	 Advise Marco as to whether Noa is liable in the law of negligence for his injuries.	 [18]
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